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#include <stdio.h>
#tinclude <stdlib.h>
int main(){
float TEMP[21],TEMP2[21];
float dt,dx,k,c,x;
int j,i,imax;
FILE *fp;
char f[256];
fp=fopen("result_diffusion.txt","wt"); <« fEREEEZATLT 7 AL

if(Fp==NULL){
printf("File open error.¥n");
return -1;

}

imax=20;
dt=0.001;
dx=1.0/((float)(imax));
k=1.0;
c=k*dt/(dx*dx);
for(i=0; i<=imax; i++){ 7J<—#& ELOK SISt E2IEE
x=dx*(float)(i);
if(x<0.5){
TEMP[i]=2.0%X;
Yelse{
TEMP[1]=2.0-2.0%x;
}
}
for(i=0; ic<=imax; i++){
fprintf(fp, "%7.4f", TEMP[i]);
}
fprintf(fp,"¥n");

&M E T 7 A NMICEE AL

for(j=1; j<=30; j++){ <30 A7 v S OFELLA

for(i=1; i<imax; i++){
TEMP2[1i]=TEMP[i]+c*(TEMP[i+1]-2.0*TEMP[i]+TEMP[i-1]);

}

TEMP2[ 0] =0.0;

TEMP2[imax]=0.0;

for(i=0; i<=imax; i++){
TEMP[i]=TEMP2[i];

}

if(j%10==0){ —JrleobEon¥aoolx (0FY j=10, 20, 30 DL )
for(i=0; i<=imax; i++){

fprintf(fp,"%7.4f", TEMP[i]);
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fprintf(fp,"¥n");
}
}
fclose(fp); —T77ANVEHALD
return 0;

}
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